@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?




® 3.6ha = 360 m?2 @ 46 a = 46000 m?
(@)240 a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a

B

@ 3.6ha = 3600 m?
@ 46a = 4600 m?
@ 300m? = 3a

® 8km? = 80000 a




3. the FNA ot g 2 AL ok AU

D 0.04 km? @ 0.4ha ® 400a
@400000 m?2 ® 4ha

B

= e w9z 1AA vlas Hytt
@ 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha




4. T FNA ot g 2 AL ok 2 Juk

O 4m? @ 40cm? 3)40m?

@ 4000 cm? ® 40000 cm?

&8

T 2 Q|2 1A A vt
@ 4m? = 40000 cm?

@ 40 cm

® 400000 cm?

@ 4000 cm?

® 40000 cm?
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@O 8000g = 8kg @ 0.4t =400kg
® 1300kg = 1.3t @o.m =170g

® 5630000 g = 5630 kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g
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® 126 + 180 @ 126 - 180
® 126+7-180+9 @180+9—126+7

® 126 +7+180+9
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Qlol7t sho] ole B Hok
(126 + 7) = 18(%) o] 1,
AGol7t 2ol 9L BEF Zak
(180 +9) = 20& U}
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A vk Uetel TR} 370, A7 1A, Pk 7 Sl Al
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1 3 2 3 4
D3 @y 93 @ 3 © 3
(RE ALY =3 +11+7=21
(FFE AYE A2 0] )= 7
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42000( ) =420( ) =42ha
@ m2, cm? @ km?, a B)m?, a
@ ha, m? ® ha, a
1ha = 100a = 10000 m?
whebA] AL Y2 m2, a ¢ @wo] "yl
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A= A3 AL ol AR AEAL,

3700000( ) =370( )= 3.7km?

O m?, cm? @ m?, a @mQ, ha
@ ha, m? ® a, ha

1km? = 100 ha = 10000 a = 1000000 m>
THERA] 2 AR m?, ha 9 @®o] HY,
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ARG Hol S R thehdl 2L o= AY
@ 480000 m? @) 4.8 km?
® 4800a @ 48ha

® 4800000000 cm?

(BAARE ] Hol)
= 600 x 800 = 480000( m?)
— 4800002 = 4800 a = 48 ha = 0.48 km?
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ZA-2oldlE 3.2ha 9] =oll A & 5.6t & AR, WFlE 4
o] ol A & 7920 kg 2 AATSIALSUTH 1a & AL o
2 kg © B5U7P?

®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg

~&B \

A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth
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